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Objective Portion (MCQs) (40 Marks)

Q.1  Pakistan is a big country. (“Big”in sentence is)

A. Noun
B. Verb
C. Adjective
D. Preposition
Q.2  The third form of the verb “speak” is:
A. Speaked
B. Spoke
C. Spoken
D. None of these

Q.3 What is the masculine of cock?

A. Ox

B. Cocks

C. Hen

D. None of these

Q.4 Hegoesto school?
(Change into interrogative)

He do not goes to school.
He dies not go to school
Do he go to school?
Does he go to school?

Q.5 It was raining since morning. (Choose the
correct translation)

oo wp

A Fem e T
B. Fomsue & uy
C. G he
D. e Wn a7




Q.6 Choose the correct spelling?

A. Beauitiful
B. Beautifull
C. Beautiful
D. Beautyful
Q.7 Thetrain is standing the station.
A. At
B. On
C. In
D. Over
Q.8 He is milk. (Choose

correct form of verb)

A. Drank

B. Drink

C. Drinking

D. None of these
Q9 i, f

(Translate in to English)

A. They have played.
B. They were playing.
C. They were played.
D. They are playing.
Q.10 He says, “Allah is one.”
(Choose correct narration)

He said that Allah is one.
He told that Allah is one.
He says that Allah was one.
He says that Allah is one.

oSowp
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Q.11 X € B is written as: ~+CI¢‘?WC/’J'/X€B

A. XisasetofB

¥ B erx
B. B is the member of set < A ¥erB
C. Xxis member of set B o A ¥ B x
D. xand B are member of set ot A L erBuaix
Q.12 3:7is the equivalent ratio of: Yo i) L S et 2 3T
A. 9:03 9:03
B. 2:14 2:14
C. 10:21 10:21
D. 6:21 6:21
Q.13 Solve: %2+ ¥ Yo+ Yyl S
A. 5/4 5/4
B. 3/8 3/8
C. 32 3/2
D. 4/2 4/2
Q.14 What will be the 30% of 90? ¥ 7 44830 K90
A. 60 60
B. 40 40
C. 27 27
D. 23 23
Q.15 Who introduced set into mathematics? oo e St S
A. Joh Npier E e
B. Al Khwarzmi SiIP
C. George Cantor e

D. None of these K e
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Q.16 6x7-2+4=7?

A. 36
B. 34
C. 44

D. 46

Q.17 The area of asquare is denoted by?

B. Miles
C. Cm?

D. Mm

Q.18 Which of the following is a neutral

integer?

A -2
B. 2
C. 3

D. O

Q.19 Solve:27+9+4-6x2

A 5
B. -5
C. 19

D. 31

6XxX7-2+4="7

36
34
44
46
S 2S4S e B

Miles
Cm®

Mm

S sk Jie L o AT

3
0

27+9+4-6x2yS S

19

31




Book Code: (2705)

Q.20 A man bought one dozen eggs for 120
rupees what will be the cost of one egg?

A 12
B. 8
C. 10
D. 9

i L end A 42120 51 s L 4T L

Wn i d §
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Science

Q.21 How many cells are present in human

body?

A. 5-500 Million

B. 5-500 Billion

C. 5-5000 Billion

D. None of these

Q.22 Deer, Horse and Ox are the examples of

which kind of animals?

C.

D.

Herbivores
Carnivores
Omnivores

Decomposers

Q.23 The Symbol of Carbon monoxide is?

Ca

Cu

Co

et L (E)f TP g 7 G

*5-500

¢*5-500

¢*5-5000
S8 e

tur J& Sunde £ 7 U7 1o s

J133 Q/:
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Ca
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Q.24 Mercury is an element denoted by

Symbol?
A. Fe
B. Au
C. Hg
D. La

Q.25 Theinternal energy of earth is called as?

C.

D.

Solar energy
Hydropower energy
Geo thermal energy

Bio energy

Q.26 Eye ball consists of Cornea, Iris and

C.

D.

Optic Nerves
Regina
Eye Lids

None of these

Q.27 Which of the following has the strongest
sense of smell?

A.

Cheetah
Human
Deer

Dog

e ek Pl & LS 260,

Fe
Au
Hg
La
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Q.28

In respiration, which of the following acts

with Glucose to produce energy?

C.

D.

Q.29

Chlorophyll
Oxygen
Water

Light

Which of the following are unicellular

organisms among the following?

C.

D.

Q.30

Paramecium, Amoeba, Virus.
Loin, Sheep, Cattle.
Whale, Starfish.

None of these

The nerve which acts as carrier of

messages from Nose to Brain is called?

Optic Nerve
Smelly Nerve
Olfactory Nerve

Spinal Nerve
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Q.32 Se VA GBSy « o K o]

o o

%

D. 7 e tu
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Q' 37 ?‘L .l‘frb (u"/‘)gl/l) L L’)b@

A. 04
B. 7w
C. ol
D. .y

Q.38 -u:/.,l’;'l ¥ && d” PED J_.)' G

A e Kok Lok 8T K o

B. i SWubiibesT ko
Co ew o Foos buv T ke
D. ¢y o St L6 ST K o

Q39 wpyst

A. Ut
B. o411
C. W]

D.




Subjective Portion (60 Marks)

Q.1: Translate the following into Urdu. (Any three) (03 Marks)

It is our collective responsibility to keep our homes, streets and surroundings clean as hadith says,”
Cleanliness is half of the faith”.

ii. As a woman, she could not travel herself for business, so she used to appoint some honest
merchants of the town, who wanted to go to other countries for selling trade goods.

iii. He is known for his contributions in the fields of philosophy and medicine.

iv. The people of the country enjoy all seasons along with the different natural gifts.

Q.2: Answer the following. (04x1=04 Marks)
i. Write plural of:

a) Mango
b) Leaf

ii. Use the word in a sentence of your own.

a) Unjust
b) Decorate

iii. They have been working hard since last year. (Change into interrogative)

iv. The students will have (pass) the exam in 2020. (Use correct form of the verb)
Q.3: Write a letter to your elder brother about your health. (03 Marks)
Q.4: Write a 3 paragraph essay on (05 Marks)

"An Ideal Student " OR "My Country"”

The 3 paragraphs should be (Introduction, Body paragraph and Concluding Paragraph)




Q.1:

Q.2:

Q.3:

Q.4:

imoli 3 .3ty al 4l
Simplify: 7E 735::{4& 43 (04 Marks)

3 .3%3,41 41
7 +3:x4- -4yl

The weight of 8 cartons of mangoes is 60 Kg. Find the weight of 3 cartons of
mangoes? (04 Marks)

S kT3 el H600s T 468

Determine the value of X. 14,18,X, 162 (04 Marks)
14,18, X, 1625,/ hsd X

Find the H.C.F of 315 and 440 by prime factorization. (03 Marks)
-Q/r:l"dj;/z’.gdg(ﬁibbb/440 s 315



(Genera Science)

Q.1:

Q.2:

Q.3:

Q.4:

Q.5:

Why is sea water called a Solution? (03 Marks)

What is Chromatography?

What is the role of soil in the
growth of plants?

What is difference between
Periscope and Microscope?

What is the function of cell wall?

(03 Marks)

(03 Marks)

(03 Marks)

(03 Marks)
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Intelligence Quotient (1Q) (20 Marks)

Q.No.1. Which one of the five box below does not go with the other four?
te e M ufe = LY

A B C D =

v o v Ovw

Q.No. 2. Which one of the five box below does not go with the other four?
e e oM uie Ll Y

A B C D E

AAL AN



Q.No. 3. Which one of these does not go with the other four?
e e AW

A B C D E

» Q )& S

Q.No.4. Select the answer option which is the missing piece from the larger image:
e A b PSR S P TR Ry

1 2 3
4 5 6



Q.No. 5. Which one of these does not go with the other four?

e e A
[]
[] 2.
[ ] 3.
[] 4.
[]
[] 1 2 3
4 5 6
Q.No. 6. Which one of these does not go with the other four?
e il A e

A B C

Mg



Q.No. 7. Which one of these does not go with the other four?
e e A

Q. No. 8.

A

B

C D

©

P

How many blocks are there in this picture?

st 4L " 1P




Q.No. 9. How about these number, Which one does not fit the PATTERN?
?q_ﬁawLU}ﬂL/UILWU)f#JJGA

[]
[ ] B.
[]c.
[ ] D.
[]

Q. No. 10. Which one of these does not go with the other four?
e e AP

ollls!

A B

C

D

E

20 22

25

30

35

A B

E

v




Q. No. 11. Which one does not fit the PATTERN?
?q_g.‘:"" (W Dy S )

A B C D =

3 6 9 12 14

[]
[ ] B.
[]c
[ ] D.
[]

Q. No. 12. Average age of three brothers is 15. Sum of their ages will be
-fnJ#(U;Md/ul-q_l SI-JL/;IJU;[;’LJ;‘@{

[] A. lessthan 45 {;45 []
D B. greater than 45 ool 45 D
[ ] C. nearto45 — L 45 [ ]

[ ] b. exact4s 45 ¢ | ]



Q. No. 13. Choose the best analogy. e T ey At
(Flower: Fragrance)

Dog: smell

]

[ ] B. aroma: food
[ ] €. food: aroma
[ ] D.

water: tast

Q. No. 14. Whatis next in logical series; (1,4,9,16,25,7) e " i~ ,,./‘?’”

[] 30
[ ] B. 36
[]c 40
[ ] D. 42
Q. No. 15. Which one does not fit the PATTERN? S‘q_u.‘."" O L il

H
SY,
&

" o &
Ty

RGNr/un

HiNINIn
=) =~



Q.No. 16. Which one does not fit the PATTERN? Se T A Ly il

A B
DA R
*| i * l,
t\|= \J[4 =
ﬁ * ? c D
- 1
= 1 .
- L]
[ ] A.
[ ] B.
[]c
[ ] D
Q. No. 17. Which one does not fit the PATTERN? Se ST A L perild
A B

D

D
®

e v w
2 o

NI
>



Q. No. 18. Which one does not fit the PATTERN?

NI
o = =

Se T A Ly il

Q. No. 19. Which one does not fit the PATTERN?

32

8 |16 | ?

NI
o =)

24

O
O
S ST I Ly psf
33
26




Q.No.20. Which one does not fit the PATTERN? Se T A Ly il

A B

(2]

] X

NI



